Complex Numbers

Express as a product of a real number

and ¢

1.

10.

11.

12.

13.

V&

Simplify

V50 4 /32— /8

V9 V=49

(7 +2i) — (4 — 3i)
(3 — 20) + (9 — 4i)
2i(3 + 5i)

(3+ 2i)(2 + 30)

(V3 + 2i)?

What is the conjugate of 2 — 447

What is the conjugate of —2 — 5:7

WS

14.

15.

16.

17.

18.
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23.

24.

Simplify 52+ 3

8+ 31
3—21

Simplify

What is 2?7

What is 37

What is i%?

What is i°?

What is 444°?

Find both members of the solution set if
2?2 —2r+5=0

Find both members of the solution set if
2 —2x+2=0

Find both members of the solution set if
22462 +25=0

Find both members of the solution set if
2?2 —4r+9=0
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